Slot Error

1500

1000

500

Object Mask Size

€ 40%

20%

Position Updates

0%

100%

Occlusion

0%

1e-8

o

20

20

20

20

Object
vanishes

40

40
Frame

—— Reappearing
——— Vanishing

—— Reappearing

—— Vanishing

80

—— Reappearing

—— Vanishing

Occluder
rotates

(o]
o

80

80

3%

N
X

1%

Tracking Error

0%

Visibility Mask Size
\‘
(&)
o

40%

20%

Gestalt Updates

0%

100%

Occlusion

0%

o

o

o

o

20

20

20

20

Object
vanishes

40

40

40

40
Frame

—— Reappearing
—— Vanishing

60 80

—— Reappearing
—— Vanishing

60 80

—— Reappearing
—— Vanishing

Occluder
rotates

80

(o]
o



